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VINAYAGA MATRIC HIGHER SECONDARY SCHOOL

SUNDAKKAL , KANNANDHERI
HALF YEARLY EXAMINATION DECEMBER - 2022

STD: X KEY ANSWER SUB: MATHEMATICS
[ .ONEMARK: | g [(+f0-n=2 4 2+2¢242+upto nterms 10 sy—secd =sech
' Given series A.P and G.P X
1.¢) 2™"1 f[%j+ f(1—%)=2 First term a = 2 o Secd L
Last term [=2 5 x
2. a)1l ( j ( 1] 5 Common difference d =0 Square on both sides
2 n 2
=—(a+! _sec’d 1
3.d) 2520 f[ ]+f[%]=2 5@ ) £ = = —=tan )
n 2
S, ==2+2) » 1 _sec 49_tan o
4. b) 211 2f[*j=2 2 X xz 725 25
s =4
5.b)5 f[%j=% 2 xz_i_seczﬁ—tan%?
1 Sn = 2” x2 B 25
6. b) 4 f[szl
2 sec’ @ —tan’ 6 =1
7.¢) /B=/D , 11
X _72—E
8. b ) Two parallel and two non-parallel sides g
9. a) 1 14. 31 Days in English
. 2 month Jan-31Aug — 31
1 March — 31 Oct - 31
10. b) 2_5 May- 31 Dec - 31

PA) =
July — 31 A) =

11. d) Frustum of a cone and a hemisphere
12. d) 3:1:2
13. d) 225

14. b) L
12

II. 2 MARKS
15. If AXB = {(3,2), (3,4), (5,2), (5,4)! then find A and B.

Solution AxB ={(3,2), (3,4), (5,2), (5,4)}
We have A = {set of all first coordinates of elements of Ax B}. .. A= {3,5}
B = {set of all second coordinates of elements of Ax B}. .. B = {2,4}
Thus A = {3,5} and B = {2,4}.
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16. ‘@ and ‘b’ are two positive integers such that o’ x " = 800. Find ‘a’ and ‘V’

Solution The number 800 can be factorized as

800 =2x2x2x2x2x5x5 =2 x5
Hence, a’ xb" = 2° x 5°

This implies that a =2 and b =5 (or) a =5 and b = 2.

17. Find the sum of the series 1 +4+9+16+---+ 225

Solution
iv) 1+4+9+16+. .. +225
= 1249243244%+ 4152

= nin+ 1:;{2n ) wheren =15

15x16x31
6
= 1240

So 1+4+9+16+. . . +225 = 1240

*—16
18.  Reduce the rational expressions to its lowest form 23:—
z° + 8z + 16
Solution
2 —16 @+ —4) 5y
2’ + 8z +16 (z + 4)° r+4
19.

24
If the difference between a number and its reciprocal is —, find the number.
Solution

Let the number be x
i i i
It's reciprocal is =

Given that,

N1
X 5

. Xl 2
A 5

= 5(x? = 1) = 24x

—=5x2-24x -5 =24x
=(Bx+1)(x-5) =0

; i
LEX=5o0r—- 5

The number is 5 (or) - =
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RLAE: ] _F:f38f_di i
20. A= 8 3 7_:'3.-[1 49 ind the value o
i) B-5A ii) 3A - 9B
Solution :
: 738 [0409
) B~5A 4 937
|_? 3 8 [ 3 T ! - _| 2 =17 —3?"I
Tl g “lzdg a5 35| |35 =1 <26]

21. The length of the tangent to a circle from a point P, which is 25 cm away from
the centre is 24 cm. What is the radius of the circle?

Solution : =BT RETR
radiusr = /25" -24°
= /625 -576

- V45

=7cm

25 cm

22. Find thevalue of ‘@) if the line through (-2,3) and (8,5) is perpendicular to y = az + 2

Solution:
Here the two points (-2, 3) & (8, 5)
the slope of these two points is
o B=d 2 Qo
1- 8+2 105
Given y = ax+2

Im

m, =a
Two straight lines are perpendicular
X = _
So, m, X m, 1
1 =
—_ ®a= .....1 = | a==H
5
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23. Prove the identity 1+sind =secf + tanf
1—sinf
Solution
1+sin® [1-sin®
(i) 1 smﬁ+ [1-51n6 =2 5660

|
Vi—sin® Yi+sine

. |f_+'&mH _'liﬁin'[i
LHS = 1'-' 1—sin® 14sin®

| _
I(_LL :m a) |
3 I";' —5inZ@
(1 +5in0)? 1+sinB
"N cos?® cos 0
1 sin B

i
oy -

cosB cos®

= Secf +tan B =RHS

24. If the total surface area of a cone of radius 7cm is 704 cmz, then find its
slant height.

Solution Given that, radius =7 cm

Now, total surface area of the cone = 7r (l + r) $q. units

T.S.A. = 704 cm?

704 :%x7<l+7)

32 =1l4+7 = 1=25cm
Therefore, slant height of the cone is 25 cm.

436

95. A hemi-spherical hollow bowl has material of volume cubic cm. Its external

diameter is 14 cm. Find its thickness.

Solution: r° = 343-218
R=7¢m P = 218
43671 3

Volume of Hollow Hemisphere = =05
/2”7{ R%1) = 4361 r=>5cm

g’ Thickness = R-r
79-3% = 426 218 =7-5=2cm
343-r° = 218
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26. If the range and coefficient of range of the data are 20 and 0.2 respectively, then find
the largest and smallest values of the data.

Solution:

range = 20

Coefficient of range = 0.2

L-5
= (0.2
L+5S
20
L¥8 Uﬁ)
L#s = =
0.2
200
= -2 =100

148 = 100 mme(2)
Solving (1) & (2)

L;z=2ﬂ
L4S = 100

2L = 120

L = 22 g
s

S = 100-60 =40

Answer: Largest value = 60

Smallest value = 40

97. Two coins are tossed together. What is the probability of getting different faces on the
coins?

Solution When two coins are tossed together, the sample space is
S ={HH,HT,TH,TT}; n(S) = 4
Let A be the event of getting different faces on the coins.
A ={HT TH}; n(A) =2
(4) _2

Probability of getting different faces on the coins is P (A) = % =" %
n
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28. Let A= {1,2,3} and B={a,b}.Write any two functions from A to B in the form of

Set of ordered pairs.

Solution

Givensets A= {1,233} andB={a,b}

Functions: f ={(1, a) , (2,2),(3,b) } Many one and onto function

g ={(1,a) ,(2,b),(3,b) } Many one and onto function

h=1{(1,4a), (2, ,3,a) } Constant function

i = 1(1,b),(2Db),3,b) } Constant function

ITI. FIVE MARKS:

29. The function ‘¢’ which maps temperature in Celsius (C) into temperature in

Fahrenheit (F) is defined by #(C) = F where F = %C + 32. Find,

(i) t(0) (i) #(28)
(iv) the value of C'when #(C) = 212

(iii) ¢(—10)

(v) the temperature when the Celsius value is equal to the Farenheit value.

Solution:
Given t(c) =F

Opn
=2t i3
5
0
i) t{0)= — +32
) 10)= 2
i) 128) = 2X20 4 55
L 252 o
5
=504 +32 =824
iii) 1(-10) = i B
B
=18 +32
=24

iv) The value of ¢ when t(c) = 212
t(c) =212

% +32 =212

9C+160=212 % 5
9C = 1060 - 160
9C =900 = C =100°C

v) the temperature when the celsius value is
equal to the Farenheit value

2

i et 2 32
o)
5C =9C +160
4C = -160
= -40
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30. Find zif gff(z) = fgg(2), given f(z) =3z +1 and g(z) =z + 3.
Solution gff(x) = g [f{f(2)}] (This means “g of fof f of 2”)
=g[fBx+1)]=g[3@x+1)+1] = g9z +4)
gOOx+4)=[O9x+4)+3]=9z+7
fag(x) = flg{g (2)}] (This means “fof g of gof 27)
=flg@+3)]=f[(z+3)+3]=[f(z+6)
flx+6)=[3(z+6)+1]=3x+19

These two quantities being equal, we get 9z + 7 = 3z + 19. Solving this equation we

obtain z = 2.

31. The sum of first n, 2n and 3n terms of an A.P. are S, S,and S, respectively.
Prove that S, = 3(5, - 5)).
Solution If S,S,and S, are sum of first n, 2n and 3n terms of an A.P. respectively then

S = g[m +(n—1)d], S, 22” 20+ (2n—1d], S 32" 20+ (3n — 1)d|
Consider, S,—8 = 2;”[2@ +(2n — l)d] — g[2a +(n— 1)d]

= 2140 + 220~ 1))~ 20 + (n — 1]

2 1

S, -8 :gx[2a+(3n—1)d]

3(5,—5) = 32” 20+ (3n — 1)d|
3(5,-8,) =S8,

32. Find the sum to n terms of the series 3+ 33 + 333 + to n terms

Solution

i) 3+33+333+. .. tonterms
Givend + 33+ 333 +. .. ton terms
= 3[1+11+111+. ... n terms]

3
- : [9+994999+ . . .. n terms]

= 1 [10-1)+100-1)+(1000-1) . ... n terms]

[(10+100+1000+ . ... )~(1+1+1+ . .. nterms)]

m|._1 %)
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33.

=
3

alr"=1)
=1

[ 10(10"-1) nq
10-1

11000"-1)
3 9
10(10" =1) n

n} Wherea=10,r=10>1

S S

Find the square root of the following polynomial

ii)

%% —Tx -3

37x° — 28xF 4x + 49 + 9

dx* - 28x° +37x2 + 42x + 9
4x*
- 283 + 37x2
- 28x3 + 49x?
-12x%+42x +9
~12x2+ 42x + 9

0

dx? — Tx

4x? - 14x - 3

fAxT —28%% +37%2 + 42X + 9 = |2x2 - 7x - 3|

If a, § are the roots of the equation 3z° + 7z —2 =0, find the values of

34.
/32

N

i) S+ 2

()5 . -

Solution 32> +7x—2=0 here,a=3,b=7,c=—-2

since, a, (8 are the roots of the equation

.. OéQ
(ii) 3 +

- —b =T c =2
O atf=Tt=msaf=C=7
5]
a B _o+8 (@+B)’—-2a8 |3 3)_ —61
g a of a3 —2 6
3
] -
(ii) O‘_QJFﬁ_?:O‘S"‘ﬁg:(a+ﬁ)3—3a6(a+ﬁ): 3 3 3:469
b oo b of 18
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35. State and prove Thales Theorem

Theorem 1: Basic Proportionality Theorem (BPT) or Thales theorem
Statement

A straight line drawn parallel to a side of triangle intersecting
the other two sides, divides the sides in the same ratio.

Proof b Fig. 4.29 ¢
Given: In AABC , Disapointon ABand FEisa point on AC.
AD AFE
To prove: — = —
DB EC

Construction: Draw a line DE || BC

Statement

l. ZABC =ZADE = /1 Corresponding angles are equal because DE || BC
2. /ZACB=/AED = /2 Corresponding angles are equal because DE || BC
3. /DAE=/BAC = /3 Both triangles have a common angle

AABC ~ AADE By AAA similarity

j—g = j—g Corresponding sides are proportional

AD+ DB AF+ EC

= Split AB and AC using the points D and E.
AD AE P §Hep
4. |, DB _  EC
+E - +E On simplification

DB EC

AD  AE Cancelling 1 on both sides

AD AE

DB EC Taking reciprocals

Hence proved

36. Find the equation of a straight line through the intersection of lines 7z + 3y = 10,

5z — 4y = 1 and parallel to the line 13z + 5y +12 =0

Solution: x = 1sub. in (1), we get

Yx+3y = 10
b 3
= );ef 7()+3y = 10
‘R\V 3y = 10-7
y=1
13x+5y+12 = 0 N?;v,lgl1e point of intersection of (1) & (2)
is (1,

s i The required line is parallel to

7x+3y =10 ————~(1) 13x+5y+12=0
Sxdy =1 ———(2) Then, the required line is
Solving the equations (1) & (2) 13x+5y+k =0
(1)x4= 28x+ ? = 40 Since it passes through (1, 1)
@x3= 15x-%2y = 3 13(1)+5(1) +k = 0

13+5+k = 10

e 1
A28 4 18+k = 0
43

The required straight line is 13x+5y-18=0
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cos 7 R |

1 .
37. = —, then prove that — = sin#

14sinf! a a +1

Solution: cos b 1

1+ sind B i

_cos8 1

(1+sin0)? = 2

1-sin’ 8
(1+sin6)*

Grsin)(1-sin®) 1
(1+sin@)” T
1—sinB 1
1+sin@ a
aZ-a’sin@ = 1+sinf
aZsinB + sinf

(a?+1)sinf

I\Jr

a?-1 =

i =

sinf = A
Hence Proved
38.

Two ships are sailing in the sea on either side of the lighthouse. The angles of

depression of two ships as observed from the top of the lighthouse are 60° and 45°

respectively. If the distance between the ships is 200 v3 \/i_ ! metres, find the height
of the lighthouse. 3
Solution: :
tan 60° =
6o [45° ;fl
h o B iy
h
60° 45¢ =
x Y = o his
o
tanl = E h Jah+h
adj x=y=h+ S i
h V3 V3
tan 45° = = =
y =n vB;‘l] 2@0[“"3 ¢_1_]
h V3 J3
e
ki
h = 200m
= (= 200m |
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39.

A capsule is in the shape of a cylinder with two hemisphere stuck to
each of its ends. If the length of the entire capsule is 12 mm and the diameter of the
capsule is 3 mm, how much medicine it can hold?

Solution:
12 mm
= - -"Ir': \ F :\"' - =2 :
4 Fopsh bal 5
! RN o | 1 = i
i | | =
LS mmy 1 LD mm
A 0, =) | A
it S O
9 mm :
Cylinder: Hemisphere:
Le |

E s - o
radiusr = i mm radius r = E cm

height h = 9 mm
Volume of the Capsule

= Volume of Cylinder + 2 x Volume of
Hemisphere

i
= m‘zh+2>< E .T[T‘Eh

h+%1':|
|

= '.IT]‘Z

40. Solution
Data in ascending order 16, 19, 20, 22, 23

_ Dx
Mean x==—
n
7= 16+19+20+22+23 =100
5 5
x=20
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X d=x—Xx d?
16 -4 16
19 -1 1
20 0 0
29 2 4
23 3 9
2.d=0 > d* =30
Zd2 o=245
o= c
n C.V=2x100
X
30
s cv = 2% 100
20
o=6 C.V=12. 25

41. Two dice are rolled once. Find the probability of getting an even number

on the first die or a total of face sum 8.

Solution:
Two dice are rolled once.

S={(1,1)(12) (L3) (1,

n(S) = 36
Let A be the event of getting even
number on first die

A={21)22) @23) 242526
(4,1) 4,2) (4, 3) (4 4) (4 5) (4,6)
(6,1) (6,2) (6,3) (6,4) (6,5) (6, 6))
n(A) = 18

_onA) - 18
PA =16 " 3

Let B be the event of getting total of face
sum as 8

B=1{(2,6) 3,5 @ 4) (53) (6 2)

n(B)=5
me BB 9
Ll n@S) 36
ANB = { (2 6) (4, 4) (6, 2)]
n(AnB) =3 P(ANB) = _n{i(; = %

Using addition theorem of probability
P(AUB) = P(A)+P(B) - P(AnB)

L RS
36 36 36
_2{1_%
36 9

Answer: P(even number on first die 0. a

total of face sum 8) = 9
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42. Solution

2 2 -4 6
Given [3| A=|3 -6 9
1 1 -2 3

Possible dimension 3 x 1 1x3 =3 x3
1) Order of matrix Ais 1 x 3

Let matrix A= (x y z)

2 2 -4 6
3| (x y z)=|3 -6 9
1 1 -2 3

2x 2y 2z) (2 -4 6
3x 3y 3z |=|3 -6 9
Xy z 1 -2 3

Comparing third row
x=1, y=-2,z=3

11) The elements of the matrix A= (1 -2, 3)

Elements are 1, -2, 3

IV. 8 MARKS

43. a) Construct a APQR which the base PQ) = 4.5 cm, /R = 35 and the median RG
from R to PG is 6 cm.

Solution

R
: / R 35°

35° O

G

P 35° y Q 3 4.5 cm Q
Rough Diagram
E

Construction :

Draw a line segment PQ = 4.5 cm

At P draw PE such that |[QPE_ = 35Y

At P draw PF such that [EPE__ =900

Draw the perpendicular bisector to PQ, which intersects PF at O and PQ at G.
With O as centre and OP as radius draw a circle.

Lk =

=

From G mark are of radius 6 cm on the circle.
. Join PR and RQ. Then APQR is the required triangle.

o =
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b) Draw a circle of diameter 6 cm from a point P, which is 8 cm away from its
centre. Draw the two tangents PA and PB to the circle and measure their

lengths.
6
Solution Given, diameter (d) = 6 cm, we find radius (r) = 5 =3 cm
Rough diagram
P
Fig. 4.69
Construction

Step 1: With centre at O, draw a circle of radius 3 cm.
Step 2: Draw aline OP of length 8 cm.
Step 3: Draw a perpendicular bisector of OP, which cuts OP at M.

Step 4: With M as centre and MO as radius, draw a circle which cuts previous circle
at 4 and B.

Step5: Join AP and BP. AP and BP are the required tangents. Thus length of the
tangents are PA = PB = 7.4 cm.

Verification : In the right angle triangle OAP, PA> = OP* —0A’ =82 -3*2=64 -9 = 55
PA=1/55 =74 cm (approximately) .
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44.a Prepare the table of values for the equation y = z° + 2 —12.

0 1 2 3 4

10 Scale
xaxis 1 cm =1 uni
y :xis lem=2 unilts P
(=5, 8) 8
=

6

i3

\ ]
4 :
\ 7
&
i (-4,0) .0 i
b s, (ot GLHE LGS QEEHD (R 2 B4 x
2
\ B

-6 (2 )

. . . . T s =0
Since there are two points of intersection i :
with the X axis, the quadratic equation i

2’ + 2 —12 = 0 has real and unequal roots. (2,-10) i
o—12
CL-D T 0, - 12)
—14
A B4
b) A school announces that for a certain competitions, the cash price will be distributed

for all the participants equally as show below
No. of participants (x) 2 4 6 8 10
Amount for each participant in 7 (y) 180 90 60 45 36

(i) Find the constant of variation.
(ii) Graph the above data and hence, find how much will each participant get if the
number of participants are 12.

Kindly send me your questions and answerkeys to us : Padasalai.net@gmail.com



https://www.padasalai.net/
https://www.padasalai.net/

www.Padasalai.Net www.CBSEtips.in

Step 1

Given,

A school announces that for a certain
competitions, the cash price will be distributed
for all the participants equally as shown below.

No. of participants () 214 6810
Amount for each participant in Z(y) |180{90 60|45 36

We have to draw the graph and find how much
will each participant get if the number of
participants are 12

As x increases y decreases, therefore the given
variation is an inverse variation.

. . . . _k
.. Equation of curveiszy = kory = =
2x180=k, 4x90=Fk 6x60="FK 8x45="F 10x36=%K

Constant of variation is k = 360

Plot the points
(23 180)7 (41 90): (67 60)1 (81 45)3 (105 36) on
the graph and join them to get a smooth curve.

Scale: Xaxis - 1cm = 1 paticipant, Y axis -
1 cm =Rs. 10

Therefore, From the graph when the number of
participants are 12 each will get Rs.

P——

S.NANDHAKUMAR M.Sc (MAT) B.Ed
Thannithasanur, Edappadi.
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HSL HALF YEARLY EXAMINATION - 2022

X -su MATHS
Time:3.15 Hrs Marks : 100
PART - 1
Choose the correct answer from the four alternatives and write the option code and the correspond-
ing answer - 14X 1= '14
. Letn(A)=mand n(B)=n then the total number of non- empty relations that can be defined from A to B is
a) m" b) n™ yiaa e | d) 2m
@ )+ RI-X)=2then {(1/2)=?  a)l b) ~] c)5 d) -9
3. Theleast number thatis divisible by all the numbers from Ito 10 (both inclusive) is
a) 2025 b) 5220 c) 5025 d) 2520
Sumoftheseries2 +2 +2 + ..., upto-n terms is :
a) 2° » B)2n c) n? : dyn+2
5. If (x=6) is the HCF 6f x*— 2x — 24 and x2 — kx — 6 then the value of K is
a)3 : Lo WS )6, A d) &
6. IFAIs2X 3 matrix and B is 3 X 4 matrix, how many clumns does AB have
a)3 b) 4 C) 20 d) 5
7 If in'triangle ABC and EDF, — = 44 hen tl ill be simil I
. mnirang| \ an S TN T then they will be similar, when
a) b) c) , - )
8. When proving that a quadrilateral is a trapezium it is necessary to show.
a) Two sides are parallel b) Two parallel and two non - parellel sides
<) Opposite sides areparellel ‘ d) All sides are of equal length
@ Find the slope of the line 2y = x + 8 PR Ta) 1 /2 b) 1 c)8 d)2
S5 5 » ‘
10.’7f S5x=secl, ‘—=tan9,then X" —— isequal to .
a)25 . & 44\ ). 1723 ) s : d) 1
1. A shuttle cock used for playing badminfon has the shape of the combination of
~ a)acylinder and a spheré . : b)- a hemisphereand a cone -
c) a sphere and a cone , d) frustum of a cone and a hemisphere
12, The ratio of volumes of a cyclinder, a cone and a sphere, if each has the same diametre’and same height is
a)l 1283 by&xxl : 3 CRIEE3:E0 Ay SR SRR
13. The standard deviation of a data is 3. If each value.is multiplied by 5 then the new variance is

. a)3 b) 15 c)S d) 225 :
@An English month is select_/ed at random in a yeag. The probability Limt ilt contains 31 days is.

15.

16,
17.

18.
19,

20.
A

22,

2k}

"

a) T . D) 1ic) ') d) B
= . s PART ! II .
Answer any 10 questions. Q.No. 28 is compulsory :- : . 10X2=20

IFAXB={(3,2),(3,4),(5,2), (5,4)} then find A and B. N
‘a’and “b’are two positive integers such that a® X b* = 800. Find a and'b.

Find the sum of the series 1 + 4 2 91+6]6 s + 225.
w2 . x —_ i

Reduce to its lowest form : —————
g M 8x+16

If the difference between a number and its reciprocal is —, find the number,

04 9 Rl 318 :
IfA= 3y e 1;—4 5 then find the value of B~ 5A. ©

The length of the.tangent to a circle from a point p, which is 25¢m away from the center is 24cm.What is the

‘ radius of the circle?

Find the value of a if the line through (=2, 3) and (8, 5) is perpﬂldicular toy=ax +'2_
1+sin@
1-sin@

Kindiy send me your questions and answerkeys tof (¥ P'&jaﬁéi.mt@ggr,ﬁl.m@e 7

Prove the identity =secO+tan0 &

o
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24.
25,

26.

yi -

* 25

29.

30.
31.
32,
LR

34.

35.
36.

Jk
38.

39.

40.
41.

42.

43.

44.
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If the total surface area ofacone of radius 7em is 704cm?, then find its slant height.

4367 ; ) LG
cubic cm. Its external diameter is 14cm. Find its

A hemi- spherical hollow bow! has material of volume

thickness.

lfth;: range and coofficient of range of a data are 20 and 0.2 respectively, then find the largest and smallest

values of data.

Two coins are tossed together, what is the probability of getting different faces on the coins?

LetA={1,2,3} and B = {a, b}.Write any two functions from A to B in the form of set of ordered pairs.
PART - III

Answer any 10 questions. Q.No. 42 is compulsory:- 10X 5=50

The function ‘t” which maps temperature in celsius (C) into témperature in Fahrenheit is defined by

t(C)=F, where F=9/5 C+32. Find (i) t(0). (ii)t(28) (iii) t(~10) (iv) the value of C when t(C)=2 12 (v)the

temperature when the celsius value is equal to the Fahrenheit value.

Find x if gf f(x) = fg g(x), given f(x) = 3x + lL,and-g(x)=x+ 3.

The sum of first n, 2n and 3n termsof an A.P. are S, S, and S respectively. Prove that S, =3 (S, - §)).

Find the sum to n terms of the series 3 + 33 + 333 + ..... upto n terms.

Find the square root of 37x2—28x’ + 4x* + 42x + 9. a B at B

If &, p are roots of the equation 3x?+ 7x —2 =0. find the values of (i) E"‘; (i

Tipt s

Find the equation of the straight line through the intersection of the lines 7x + 3y = 10, 5x—4y = 1 and parellel
to the line 13x + 5y + 12=0.
cosf 1 1 : & -1
T — t =g 3
R then prove that 1 sin g
Two ships are sailing in the sea on cither side of the lighthouse. The angles of depression of two ships as
observed from the top of the light house are 60° and 45° respectively. If the distance between the ships is

341

200 (_\/3—] metres, find the height of the light house.

State and prove Thales Theorem.

A capsule is in the shape of a cylinder with two hemisphere stuck to each of its ends. If the length of the entire
capsule is 12mm and the diametre of the capsule is 3mm, how much medicine it can hold?
Find the coefficient of variation of 20,,22, 19,23, 16.
Two dices are rolled. Find the probabi‘ity of getting an even number on the first die or a total of face sum 8.

2) *¢(2 4 6
if|3|4=|3 6 2 then find (i) the order of the matrix A. (ii) the elements of the matrix A.

l Pt P e ' '

PART -1V

Answer both the questions choosing eitlier: of the alternatives:- 2X8=16

a) Construct a A PQR with the base PQ =4.5cm, /R =35”and the median from R to i(G is 6cm. (OR)
b) Draw a circle of diameter 6cm from a point P, which is 8¢m away '
and PB to the circle and measure their lengths. -
a) Discuss the nature of solutions of the quadratic equation x*+x — 12 =0. (OR)

b) A School annountes that for a certain competitions, the cash price will be distributed for alf'the particpant
equally as shown below.. . pants

from its centre.Draw the two tangents PA

No.of .Participants (x) 2 14168110
X Amount for each participant (y) 180 190 | 60 | 45 | 36
(i) Find the constant of variation, = ~

(ii) Graph the above data and hence, find how much will each participant get if the number of participants are 12
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